Year 10 Science    Physics Revision 

1.  A bike and rider have a combined mass of 95kg.  When the brakes are applied the bike, travelling at 15ms-1, comes to rest in 3 seconds.  What was the braking force applied?  










2.  What deceleration occurs when a 2200kg car experiences a braking force of 500N?

3.  A Reach FX rocket consumes 420kg of fuel per second when it is launched.  Use Newton’s Laws to explain why the rockets acceleration increases with time.   

4.  A boat was cruising at 60km/h.  It accelerated for 6 seconds at 5m/s2.  What is the distance travelled given it had a final velocity of 95km/h? 

5.  A truck applied the brakes while moving at 68km/h.  if retardation due to the brakes was 3.4m/s2,  determine the time it took for it come to a stop.  

6.  A jumper jumped from the Bankwest tower without wearing his parachute and hit the ground at 120m/s.  Determine the height of the tower.  

7a.   Describe the motion of the following object.











7b.  Determine the velocity for the first five seconds.

7c.  Determine the velocity at the end of the 25th second.  

7d.  How many seconds was the object stationary?

7e.  What is the velocity in the last 10 seconds?

8.  How far will a billy cart roll down a hill if when it is let go, it feels a force of 30 N for 6 s and has a mass of 75 kg?





9.  Calculate the acceleration from the tape. Marks are allocated for clear 
      setting out.  Assuming frequency is 50Hz.
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